
B
E

R
E

C
H

N
U

N
G

E
X

C
E

L9
7

S
P

A
N

N
U

N
G

S
W

A
N

D
L

E
R

fü
r 

D
re

ht
ra

fo
 2

30
V

/1
A

O
E

5G
P

L
V

1.
1

E
in

ga
be

n:

K
er

nt
yp

:
E

I3
0

A
rt

:

B
le

ch
di

ck
e:

0,
35

[m
m

]
K

er
nm

at
er

ia
l:

F
or

m
el

:
U

W
1
 =

 2
,2

2 
* 

b 
* 

A
 *

 2
f /

 1
00

K
er

nf
ül

lfa
kt

or
:

0,
95

[-
]

In
du

kt
io

n:
1,

80
[T

]
U

W
1

P
rim

är
e 

W
in

du
ng

ss
pa

nn
un

g 
[V

/W
dg

]

K
er

n:
b

In
du

kt
io

n 
[T

], 
(1

T
es

la
 =

10
 k

G
au

ß
)

Ä
uß

er
e 

Lä
ng

e
3,

0
[c

m
]

K
er

nf
lä

ch
e:

0,
95

0
[c

m
2 ]

A
K

er
nf

lä
ch

e 
[d

m
2 ]

Ä
uß

er
e 

B
re

ite
2,

5
[c

m
]

f
F

re
qu

en
z 

[H
z]

D
ic

ke
1,

0
[c

m
]

O
E

5G
P

L
In

ne
re

 B
re

ite
1,

0
[c

m
]

F
en

st
er

:

Lä
ng

e 
ne

tto
1,

4
[c

m
]

F
en

st
er

flä
ch

e:
0,

56
[c

m
2 ]

F
en

st
er

fü
llf

ak
to

r:
0,

96
9

[-
]

<
<

D
as

 w
ird

 s
ch

on
 s

eh
r 

kn
ap

p!
!

B
re

ite
 n

et
to

0,
4

[c
m

]

F
re

qu
en

z:
50

[H
z]

K
ur

zs
ch

lu
ß

sp
g:

20
[%

],
  <

<H
o

ch
!!

W
ic

kl
un

ge
n:

S
pa

nn
un

g:
S

tr
om

:
P

ar
. D

rä
ht

e:
D

ur
ch

m
.:

D
ra

ht
is

ol
at

io
n:

D
ra

ht
flä

ch
e:

P
rim

är
_1

:
40

0
[V

]
0,

00
5

[A
]

1
0,

03
0

 [m
m

]
0,

01
[m

m
]

0,
00

1
[m

m
2 ]

S
ek

un
dä

r_
1:

12
[V

]
0,

12
5

[A
]

1
0,

15
 [m

m
]

0,
03

[m
m

]
0,

01
8

[m
m

2 ]

S
ek

un
dä

r_
2:

[V
]

[A
]

 [m
m

]
[m

m
]

0,
00

0
[m

m
2 ]

S
ek

un
dä

r_
3:

[V
]

[A
]

 [m
m

]
[m

m
]

0,
00

0
[m

m
2 ]

S
ek

un
dä

r_
4:

[V
]

[A
]

 [m
m

]
[m

m
]

0,
00

0
[m

m
2 ]

W
ic

kl
un

gs
fü

llf
ak

to
r:

0,
65

[-
]

A
us

ga
be

n:

P
rim

.W
in

du
ng

ss
pg

:
0,

03
80

[V
/W

dg
]

W
ic

kl
un

ge
n:

W
in

du
ng

sz
ah

l:
Le

is
tu

ng
:

A
rt

 d
er

 L
as

t:
S

tr
om

di
ch

te
:

W
ic

ke
lfl

äc
he

:

P
rim

är
_1

:
10

53
6,

9
 [W

dg
]

1,
8

[V
A

]
O

hm
sc

h
6,

37
[A

/m
m

2 ]
<<

H
o

ch
!!

0,
16

9
[c

m
2 ]

W
ic

kl
un

gs
is

ol
at

io
n:

0,
40

 [m
m

]
0,

05
6

[c
m

2 ]

S
ek

.W
in

du
ng

ss
pg

:
0,

03
04

 [V
/W

dg
]

S
ek

un
dä

r_
1:

39
5,

1
 [W

dg
]

1,
5

[V
A

]
O

hm
sc

h
7,

08
[A

/m
m

2 ]
<<

H
o

ch
!!

0,
12

8
[c

m
2 ]

S
ek

un
dä

r_
2:

0,
0

 [W
dg

]
0,

0
[V

A
]

#D
IV

/0
!

[A
/m

m
2 ]

#D
IV

/0
!

0,
00

0
[c

m
2 ]

S
ek

un
dä

r_
3:

0,
0

 [W
dg

]
0,

0
[V

A
]

#D
IV

/0
!

[A
/m

m
2 ]

#D
IV

/0
!

0,
00

0
[c

m
2 ]

S
ek

un
dä

r_
4:

0,
0

 [W
dg

]
0,

0
[V

A
]

#D
IV

/0
!

[A
/m

m
2 ]

#D
IV

/0
!

0,
00

0
[c

m
2 ]

K
al

tg
ew

al
zt

es
 B

le
ch

S
pa

nn
un

gs
w

an
de

r

dr
tr

_1
03

.x
ls

D
at

um
: 1

1.
06

.1
99

8
D

ru
ck

da
tu

m
: 0

1.
03

.0
3,

 1
9:

08
B

la
tt 

1 
vo

n 
1


